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1. Answer the following as directed: 1x10=10

(a) Industrial relations are not dependent
on hurnan resource policies.
(Write True or False)

Wﬁﬁwwwﬁiﬁuﬂrﬁwﬁa
AL (CREfmE)

. (b) Trade Umons are temporary combintion
between workers and the government.
- (Write True or False)
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e AR 020 2o I 5o g ) forete |

(T & = f770)

(c) Collective bargaining is a process of
negotiation between the employees and

the representatives of the employers.
(Wnte True or False)

AR wam 2eg Reased =i b
eifeiiae TMers (Rl SR Afdi |
| (7% ¢ =y f7730)
(d) Lack of job security is an cause of
labour turnover in an organisation.
(Fill in the blank)
BITRE JTFR TSR bl FHFS W7 I
oS B IRAI (T A 9T )
(e) A domestic enquiry is an internal
investigation conducted by the to
address issues that arise during
employment. -+ (Fill in the blank)
T O9F (TR ReatoR wTe Sed @
TR AN IR I AR oG |
(=71 312 73 791)

(f) A lockout without proper notice is legal.
(Wnte True or False)

3T TR SR AFNGE (34 |
(37"l 71 3=t fe730)
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(g9 Who among the following is known as
the father of trade union movement in

India ? (Choose the correct answer)
(GC TSR ST Tl 510 R0 2
(&% GGICo! AR BfFedr)

(i) Bal Gangadhar Tilak

A NSNS Foeis
(i) N. M. Lokhande

1 A PURN G | S [AR
(i) Wadia

qifea
(ilv) None of the above

8799 9bIe FZF

(h) A strike or lockout is illegal when it is
commenced in contravention of section

of the Industrial Disputes Act,

1947. (Fill in the blank) .

) 3584 51 ST M =% 2 4|
To1eq] BR 4G A STFSNGE €S FRCA 3 34 |
| (YT 212 %3 1)

() Workers’ participation in management
i1s an important form of non-financial
incentive to the workers.

(Write True or False)
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HIpIEre Wi Weagd =i A’ A

SRER Twelfe 93 eFgoyd Tl |
| (71 A Rl G )
() Mention the principal organs of the ILO.
ILO 3 24IR SR9PTR S 41 |
2. Answer the following in brief : 2x5=10
were MAAIRE 50 ©er faar
(a) State two distinct features of industrial
relations.
ST T 557 e tafie S 3/t |
(b) Why does an individual _|om a trade
union ?
& PR AEE AW Gore 7 @ioimie 3 2

(c) What are the reasons of misconduct or
indiscipline in an organisation ?

BT ALZS AR 53¢ A SPIFE oIk FRe [ 2

(d) Define Industrial Dispute’ under the
Industrial Disputes Act, 1947.

Sranifore AW o34 Ya897 SFS Twmyifsre
fRam’s iz |

(e) Discuss briefly the different stages of -
workers’ participation in management.

“{fplere AT TIlazR [ieq «m1 R
HICE SIS 3 | | -
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3. Answer the following questions in short : fany .
four) 5x4=20

oo MRS ©es &=l ¢ (R 51<51)

(@)

(b)

(c)

(d)

(e)

Explain the role of employer and the
State in maintaining smoth industrial
relations.

T2 O T TR A ﬁt’IﬁﬁT‘i 16
TR St 3¢ 31 |
Briefly explain the situations under

which the Registrar of Trade Unions may
cancel the registration of a Trade Union.

(5T TTHTR AG T (FT LT TR 2AG 1 Alfee
T #]1 2z [RE0a 5303 1= 41 |

Explain briefly the reasons for failure of
Works Committees.

FLAASHYZR [REFeTOR FIRIFALZ HHCT I A |

Explain the reasons of employee
absenteeism.

TR SAEST FRETIZ I@R el

Discuss the conditions of layoff under
the Industrial Disputes Act, 1947.

- Trmifeie M SIiES Y5893 TENTS HIERpIoS

SR RAcT SCEls-1 341 |
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(f) Discuss briefly the provisions of the
Industrial Disputes Act, 1947 in regard
to closure of an undertaking.

QB] BrAplel IF IR FANSS SOIIaIs RAM wizA
55893 RYT2 AT 50T AL 41 |

4. Answer any four of the following questions :

10x4=40
woTo Al 2PARRR fArwrear b1f<619 Twa T g

(a) Discuss the various objectives of
industrial relations and the factors

affecting it in the changing .
environmental conditions. S9+5=10
f‘mﬁsﬁs‘ Wa Rfen Sy o iR
W e s = |

(b) Discuss the origin and growth of Trade
Unions in India.

SRS (T eI Tl Wi [Rarir KA
S I |

(c) Briefly explain the various types of
collective bargaining in an industrial
setup. Discuss the essential conditions

for successful collective bargaining.
2+8=10
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Tomifaiss siRare Rfea @em Agzs vawnr Raw
BL DIRG9 | 7T AN RS MR AN 2ATAGA T
SO RACH SCEABI 41 |
(d) Discuss the evolution of industrial
relations in India. ‘
S|l
(e) Explain the distinct features of the
Industrial Employment (Standing
Orders) Act, 1946. Also discuss the
matters ‘to be presented in the draft
standing orders by the employees.
: 5+5=10
Cranifsie FERZ (FA W) B, 58T
FHA QIFRETIR i T | Feics [l 6
AR B R A6 TR TR 9T
TR e <ices 4 |
| () Explain the meaning of ‘grievance’. In
the context of industrial relations,
discuss the appropriate procedure that

can be adopted for grievance handling.
2+8=10

o ol W @R | Soniae i
(FI2{00 GT S+ fHevifas I 229 F(13 211
TG Awe] RAT Sl 341 |
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(g) Discuss the issue of multiplicity of Trade
Unions in the Indian scenario. Also
explain the provisions for recognition of
Trade Union as guided by the Trade
Unions Act, 1926. 5+5=10

SeT AR (fu 38R TTgd Raacl
SIEBA T | TS (GC 2GTH T2 SDIVT
wﬁzﬁr@@‘iﬁﬁmﬁ%ﬁﬁmﬁm
T T4 |

(h) Whatare the various provisions of safety
of workers under the Factories Act,
1948 ? Explain. -

PR 12, mswuﬂﬁ*ﬁmﬂﬁﬁ
Rarerz e ee g
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